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1 (a) Write down any 3 by 1 matrix.

(b) Work out.

o221
® [—105}

(53 0) (11 -3 5
(i (1 2 —7]{4 1 —2]

i (435 3]

4 8 4
x [(2 1)=| 6
-y -8 -4

(c) Given that

ANSWEL (@) ©ouvineinieieieee e

Answer (b)(i)

Answer (b)(ii)

Answer (b)(iii)

3 |, find the values of x and y.

Answer (C) X = ......cceennen. and y =

[2]

2]

[3]
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2 (a) Giventhat =3, make b the subject of the formula. Use

ANSWEE (8) +vvvierieie e [4]
(b) Solve the inequality.
2x+9 < 3(x-1)
5 2
ANSWEr (B) ..vveiie e [3]
(c) Solve the simultaneous equations.
3y+8=4x
2x+y=4
Answer (C) X =......cc....... andy=............. [3]
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3 (a) Youaregiventhat x’-225=(x+p)(x+q) Exaﬁézer’s

Find the value of p and q.

Answer (@) p=.....cccc....and g =.....cc........ [2]
(b) The ordered pairs represent a function.

(i)  Write down the range of the function.

ANSWEN (D)(1) «vvvieeee e [1]
(it) Describe the set of numbers in the range.

Answer (D)(I) ..o [1]

(iii) Describe using function notation, the function represented by the ordered pairs.

Answer (D)(H1) ...oveneiieee e, [1]
() Youaregiventhat f(x)=-3x and h(x) =1—4x.

Find
()  h(=2),

ANSWET (C)(1) +vevvnverene e, [2]
(i) the value of x if f(x) =h(x).

ANSWEN (C)(11) +onveeneeei e [2]
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4 Senzo and Zweli sit their Additional Mathematics examination. Ex“{’};”;”’s
(@) The probability of Senzo passing his Additional Mathematics examination is 0.8.
Find the probability that Senzo fails his Additional Mathematics examination.
ANSWEL (@) +ouvieieie e [1]
(b) The probability of both Senzo and Zweli passing is 0.48.
Hence, calculate the probability of Zweli passing his Additional Mathematics examination.
ANSWEr (D) ..ovvii [2]
(c) Complete the tree diagram.
Senzo Zweli Possible Outcomes  Probability
PP 0.48
P
0.8
PF €= ...
FP 0.12
C=iiiennnnn F
FF f=.
[4]
(d) Calculate the probability that only one of them fails the Additional Mathematics
examination.
Answer (d) ..o [2]
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5 Three cats at point O are 50 m due west of a tall tree at point T. Exaﬁé’ée”s
One cat moves 80 m south to a point F.

(a) Draw a rough sketch to show the positions of T, O and F.

[2]
(b) Calculate how far point F is from point T.
Answer (D) ... [2]
(c) Calculate the bearing of F from T.
ANSWEE (C) v, [4]
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(d) Another cat takes the shortest path to the path joining T and F. Emf};";e”s

Calculate how far the cat moves.

Answer (d) ...o.oovieni i [2]

(e) The third cat at point O sees a bird at the top of the tree.
The angle of elevation of the bird from the cat is 18°.

Calculate the direct distance of the bird from the cat.

ANSWET (B) vvveeriteee e, [2]
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6 (a) You are given the expression 2(3u—v)+3(u+v). Fxaminer's
Find the value of the expression whenu =1 and v = -2.
ANSWEL (@) .o [2]
(b) Remove brackets and simplify.
(i) —3(4-5x)
ANSWEr (D)(1) vevvenieieee e [1]
(i) (@2x-3)(x+2)
Answer (B)(I1) ...oooveeiiie e [2]
. . 4 2
c) Simpli —_— :
© plify x+3 2x-1
ANSWEN (C) vvovviieeeieiiee e [3]
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(d) Solve the following equations. Exag;‘zer’s

(i)  2@y-4)=7

ANSWer (d)(1) «.oveneeiee [2]

Answer (d)(I1) ...voverie [3]
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7 (a) The diagram shows vector AB. Use

(i) Express vector AB as a column vector.

ANSWET (8)(1) +vevveneeneeeieeiie e e [1]
. . —  — (5 — :
(i) Giventhat AB + BC = (2} draw vector BC on the diagram. [2]
iy e 1=
(iii) Find EBA'

ANSWET (A)(T11) +.vveeeeeneereereeieeereeeereaeeas [2]
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- 2 3 6 Exa{r}iner’s
(b) You are given that a = ! , b= 5 and c= 3] s

() Find 2a—b+%c.

ANSWEN (D)(1) «vveeneeeiieie e [3]
(i)  Find |c|.

ANSWEr (D)(11) +vovveeeeeieee e [2]
(iii) Show that vectors a and c are parallel.

ANSWEr (D)(T11) ..o [2]
(iv) Findtheratioc: a.

Answer (D)(IV) ..oveenii i [1]
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8 The table shows the number of credits obtained by 100 Form 5 learners. Ex"gé’;g”s
Number of credits | Number of learners ?E:;EL?;;‘E

0 2 2

1 ) 7

2 3 10
3 12 22
4 20 42
5 26 68
6 17 85
7 10 95
8 5 100

(a) State the modal number of credits.
ANSWET (8) +.vvviriieieeie e, [1]

(b) (i) Find the number of learners who got at least 6 credits.

Answer (B)(1) ....oovieni [2]

(it) Calculate the percentage number of learners who got 4 or less credits.

ANSWEN (D)(11) +vveeeiiieee e [1]
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For
(c) Using a scale of 1 cm to represent 1 credit on the horizontal axis and 2 cm to represent Emﬁé';e”s
10 learners on the vertical axis, draw a cumulative frequency curve.

[4]

(d) Use your curve to estimate the median credit.

Answer (d) ..o [2]
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9 The diagram shows triangle OAB.

04 = a, 0B = b and M is the midpoint of AB.

A NOT TO SCALE
a M
o B
Find
(@) AB
ANSWEN (8) +ovvieeniee e [1]
(b) BM
ANSWEr (D) .ovvieee [1]
(c) OM
ANSWEE (C) «ovvineiieeeeeee e, [2]
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10  The table shows values of x and y connected by the equation y=x? - 5x+4.
X -1 0 1 2 3 4 5 6
y=x>-5x+4 a 4 0 -2 b 0 4 10

(@) Find the values of a and b.

sing the set of axes below, draw the graph o =x“-5x+4.
(b) Using the set of axes below, draw the graph of y =2

Use a scale of 1 cm to represent a unit on the horizontal axis and 1 cm to represent 2
units on the vertical axis.

[3]
(c)  Write down the equation of the line of symmetry of the graph.
ANSWEN (C) vvveeeie e [1]
(d) Find the values of x wheny = -2.
Answer (d) ....oooiiii [2]
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